v = VE T R

B = VR e

R GRIE)

TR TR i

R E T &)



mE 7602

RV EEE:

BHARyY XA (VE28)

BEE-LE ~N—Sa1f

RiEE (VE28)
EZLERF£Y

RyHsZXaAxy28H

HFRY H R

100

RysRaxy5sH

T

mE76 11

EZLERFAEY

av Y—+rH (VE28) R 8

R VASE 27
Syavdh

MBAZLTVH

(RTFULR)
a9 y—+rA (VE28) # 6
iy VAGE 278
Syavdh
A MBAY TS5
mE7612 E-ZIILERNEY ALC#HA (VE28) R

M6&F v b ) -
(#4R) M6 x 12 ‘
(%4R) ==
] M6 x 6 0
~) g (RFYLR)
i
7k AV 274
Yyaydh
s
M6 I/NN—F v vF




m&E7612—-01

EZLERNEY

ALCHA (VE28)

LR

) M6&F v
(&) M6 x 12 !
(&) —éé‘
2 ABLS5. 8x50 |
o (RFULR) .
I $25 17 GASE 2/
- Yyavdh
<
T49o%—7" 35
s8
$8
s P ] = &Y HH
EZILEmRFEY #EM (VE28) TEH BERBBHoE
2[0
p ===

1

M6&F v ~
(&) M6 x 12
(#4R)
- M6 x 12
< (RFULR)

HIAMERD O E

- AFULRAIL b d
o) XM | C | L d
2 7621 AN | 15] 35| MeX30
1622 + [ 30[50[M8x40

EZLERFGEY

&M

XHEH RTFULAM (SUS304)

R0k

)

M6 x 12
(F8R)

M6 x 12
(RTUULR)

35

ATULRA

RAFULARRIL

20
==

kd

o B x## | C| L d
7624 N 151 35 [ M6Xx30
7625 & 30150 M8x40
2%7631 E-LERMNEMY &h woN

2 ABSHER

S=

M6&F v
() M6 X 12
(E4R)
2 M6 x 12
Iy (RFYLR)
F A B Stitfg
~ QQE L%

60°

70°




m&E7631—01

EZLERGEY

EERH (VE 2

8)

b

§
S
Gy
<

M6%&+ v+
(F8R) M6 x 12 1
(E4R) ==
I - HICE 6%
w| @ $30
T = 1 Ll | AFVLRE "_II;“
i S r¥e, Ve _ pern
\_—_/ T
| @70 |
M6 X 12
(RTULR)
R%E7632 EZILERfREY KA (VE28) S

mE7632—-01

EZILERMAEY

KA (VE28)

100
* %

=]
150 RRTL
160° 3tx160x160

mE7632—-02

EZLERNEY

KA (VE28)

120

‘.,,7|—|
o
130 KRS L
140° 3tx140x140




EZLERHEY

ERiE

RLCA#H (VE28)
20
&
o
M6F v b M6 X 12 ‘
(&4H) (3 4R) ==
At LI d
& Al d
7634
7635
7636

R%E7637 E-ZILERME£Y

LE (VE28)

ERTED

e
M6%F v b
(HER) L_I_
-
30
RET 641 E-ZILEDRMEY BHER (VE28) H@m

i
M6 x 12 ‘
(& 4R) Q%;
AR
M8x15
(RFYLR)
%7642 E-ILEWRfTZ2Y Ai&ER (VE28) # 6

@
»
1@
»
>
»
i
2
4

7k SAVE D27/

YyYyardh
$5. 8x50 KAl
(RTULR)




m&E7 701 ﬁéﬁgeg —
5000
| _ 9 - _i
= -1 R
EREH31. 8 (2t)
15
e Tyivy
o (E4R)
§ CU—F#A14mm? § § ~ ]
\ n
o — Tﬁ\hliml1031
100 M6 X 6 SW
(RFULR)
EEF
R14—6
AmhEL # i a
210
#HREH31. 8 (2t)
M6 X6 SW
(RFYLR)
2 EFEHF __
— - (711
J— E#A14mmix 100
$36 S
(EHR)
BARV I AHBFE % AN
[‘ﬁ" hyFyry
(#4R)
M6 X6SW f J'
(RTULR) T
EREHTF (5) D
R14—6 —
| 2 (712
J—K#A14mm2x 100 8
Tyl LL\— -
(B8 HAES31. 8 (2t)
7‘ “J y ~ 7\\ ﬁ ﬁlal §!<l
E&EWHF
R14—6
M6 X6 SW
r__________1 (RTYLR) T
= fatMmICcs1 O
/“’ %3
U= KA1 4mm? ] g[

=BR7 N
213

AL

3

—-74-




RE7714 hy Ty y % A &

©
- R
S

______

falmIc31

2E7721 BRESEWMATEY avyy—+H = i

M6&F v b
(& R) M6 x 12
(#4R) ==
3 M6 x 12
(RFYLR)
N*_
B
o 077 SASE 27
Yyavdh
M6 A BT Hh
(RFYLR)
@m&E7721-01 FREESEWTEY avy)—+H E gk
20
MBS + R 1
(& 4R) M6 x 12
(ER) -_éé_-
] M6 x 30
(RTFYLR) :
T
’ |¢% [ E SAVE 274
vyavdh
[H) MBAY TS5
B&E7731 RESTMTEY KR B
20
¥ =35
®
M6%F vy b Q'b'\'
(E4R) M6 x 12 :
. (E4R) iéé:
3 ¢ 20 i
NLI -y T
i
25 [ ASE 24
D R= 7= PN

: ¢5. 8x50K4Ll
(RFULR)




REERLTEY

LR

S

M8x30 -HFvh
(#4R)

2-12¢%Y

300
700

[=]
on

1741

REEMATEY

HxMA

R

M8x30 -&Fvh
(F6R)

110

2—12¢%Y

b &

1742




